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QUESTION/VRAAG 10

10.1
Yi==landx=2
v TP atx=-1
1 v TPatx=1
v shape
4
QUESTION/FRAAG9
9.1 fix)=9x" v f(x)=9x"
3x =0y’
3’ —9x7 =0
37 (x—3)=0 v x=0
x=0 or x=3 v x=3 (3)
9.2.1| For f and f v’ answer (n

922 | The point (0; 0)1s :
A point of inflection of

A turning pomt of §

v {2 inflection
point

¢ " turning pomt (2)

9.3 F(x)=18x v [ x)=18x
Distance= " (1)— /(1)
=18(1)-9(1)° v substitution
=9 ¥ answer (3)
94 | 3x' -9x" <0 v 3x -9y <0
3t (x—3)<0 v factors
but 3x* =0
I,
/
Lx=3<0 x<3
v<3, x=0 v x=0 (4)

[13]




R

7

¥ v~ intercept of a cubic
graph

« point of inflection and
stationary point, x = 3

¥ concave up for x < 3and
concave down for x =3

)

QUESTION 8/VRAAG S

8.1 r'(x)=mx* + nx+ k

r(x)= ﬂ(x+%}x—l)
1=n(0+§}0—1)

1
l=e—m
3

Som=-3

(=g e }x-l)

3" 3
r'(x)=-3% +2x+1
Sn=2

2kl

OR/OF

k=

O0=m+n+1 and 1m—1ﬂ+1=0
9 3

m+ n=~1 (1)
m-3n=-9 (2)

(1) - ()
4n=8
J..nm2
mi2=~1

S.m==3

v substitution of (- -:l; . 0)

and (1;0)
v substitution of (0 1)

v m=-3

v f’(x)=—:{x’—§x—%]

v n=2
vik=1 (6)

OR/OF
vVik=1

v men=-1
v m-3n=-9

v 4n=8
vn=2

v'm=-3 (6)




8.2.1 f(x)=-x"+ ¥+ x+2
B YT v
31 271 x-coordinates of the TP
1 49
T.F{— ' ) v ,{ 1 49J
TH-c:—
3 27 3' 27
fl1)=3
T.H1:3) v TH1:3) (3)
822 flx)=-x"+x" + x+2
x4 X s xr2=0
(x-2)- ¥~ x-1)=0
x¥=2 or nosolution v ox=2
“one x-intercept
3 i3
1 ¢ two turning points
—;,‘ 1,851
2\ ¥ pintercept
¢ shape: neg cubic
(s)
1
8.3.1 ]
a=—3
2
=% ¥ answer (1)
OR/OF OR/OF
F(x)=-3x" +2x+1
{x)=-6x+2
f'(a)=-6a+2=0
-fa=-2
1
a=— ¥ answer 1
3 {1
832 E:-zi units o4
3 3
4
v b — 2
<3 4
117]
Question 9.3
931 x=1 and x=5

9.3.2

x<1 or x>5




